A =
¢ o M2 £ 4 A 13 H HoAT
TH(FEE)ALERE BB Ok W W g
R4 X & A4 ot || TG | L (1)
THEEE)L | O H L (2 KH) B }E.J,J i A il A TEEFEHME T 1 % | f%
v B A B B o# | B B
585 — B AR BR AR T 4 — KEREZRE OJEITHAMR
B A A 5,159,000 | 4,708,000 R2.4.13
AN ite
%gg%g* T 1 [wer| @, 690, 000) | (4, 280, 000) ~
WRERBEV Y —F R3. 3.31
WRER BERL ST T ©
e e kA A T K X O K T5 Ve 0 B
5 — AR FE A~ (YA
H A A= 4,079,680 | 3,817,000 O BT HIIR
AT o 2 o (3, 708, 800) | (3, 470, 000) R2. 4. 13
2 FOKALFRES
By PO . ~
%E{f@l%% (— oAV AU 2 2 Sl A M o 5 — R3.3.31
BONTEERS
e ) AV I N[
WRER BERL ST RT
R RIS T
A7 AT NIETAGHFIGEAL  |OBITHIR
3 A TAGE |HNISHLIR ST 6,314,000 | 5,940, 000 R2. 4.13
HYSEAE |r—an o 1 [m=#L| (5, 740, 000) | (5, 400, 000) ~
£ iR B k= A ST R2.11.30
BRSPS YL 20 MR E S A




